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o

it

R B #s AL ¥ L DAL (—16m) ERIE T =

wm H F

T 8 i 0 B A SR

L6446 H




AHEERER KBRS SRR (- 16mE R R TE

% i B - IRk By H 8 B & & =
BEIZE 1,013,871, 696
BEIEE 243,646, 454 + 232,137, 850 475, 784, 304
HFERRE GH 174,656,076 + 67,325,452 + 1,664,926 243, 646, 454
H£BREE (RBL) 174, 656, 076
HBfREEE (FR) 1,040,578,861 x 6.47% ((3.39% x1.28 +2.00%) x 1.02) 67, 325, 452
BERERER 1,040,578, 861 x 0.16% 1,664,926
R R 1,257,518,150 x 18.46% ((16.07% +1.85%) x 1.03) 232,137,850
TR 1,013,871,696 + 475,784, 304 1,489, 656, 000
—REEERE 1,489, 656,000 x 11.26% (11.26% x 1.00) — 7,127 167,728,138
ZHRIEE 1,489, 656,000 x 0.04% 595, 862
TH{fis 1,489, 656,000 + 167,728, 138 + 595, 862 1,657,980, 000
EENER 26, 647, 271
HRE 22,674,731 x 60.6% — 8,157 13,732,729
REFER 26,647,271 + 13,732,729 40, 380, 000
E R 2,712,340 + 42,692 2,755,032
BEEAGE 2,712,340
BEiERE 42,692
Z O IR 2,712,340 x 53.85% ( 35% + (1 — 35%) ) 1,460, 595




EHRERER

KB EE i RAEKC-16mFLETE

1,875, 324,000

A [ B - KT HI = fill & % 1%

BRI 2,755,032 + 1,460, 595 4,215,627
—REBESE 4,215,627 x 53.85% ( 35% + (1 — 35%) ) — 5,742 2,264,373
HERAEE 4,215,627 + 2,264,373 6, 480, 000

A ETEE 40,380,000 + 6, 480, 000 46, 860, 000
BEHEE 1,657, 980,000 + 46, 860, 000 1,704, 840, 000
HBEGEELE 1,704, 840,000 x 10.00% 170, 484, 000

FAIZE




EHBERERREK

KB EE i RAEKC-16mFLETE

£ [ g - BKTE B B = fili & B

BEEIEE 1,013, 871, 696
[KBr#&] Mid& (-16m) 608, 425, 950
BRT 253, 766, 553
BEQ) 45, 435, 602
TS 78E Fh4E£NCI0 45, 435, 602
1-1 5785 (EEET) REEIBL—>., CL—) 27, 926. 00 1,627 45, 435, 602

m3
B% Q) 208, 330, 951
TS 78E Fh4E£NCI0 208, 330, 951
1-2 5785 (BEHET) DL—> 3,333.00 1,607 5, 356, 131

m3
1-3 5 7&% (RFkEL) DL—>. 8% 3) LREBFET 98, 840. 00 2,036 201, 238, 240

m3
1-4 55 TRER(EEMBER) R 1.00 1,736, 580 1,736, 580

=
TREAT 354, 659, 397
TEMERRT 191,528,729
TIEMER (1) #5714 £N<10 37,672,174
1-5 TEMER (B T) (R BEER~ZNKEE 217,926. 00 757 21,139, 982

m3
1-6 LIEMEN (BIMET) (B M) SiMKEE ~BRE2X 27,926. 00 592 16, 532, 192

m3
TIEMER 2) NS0 153, 856, 555
1-7 LEME (B¥ET) 3,333.00 1,175 3,916, 275




BHEERNRE KRB SRR AR 16m %R R TE

% R R - KT B B =B B * B =

1-8 LEMER (RBFHET) 98, 840. 00 1,517 149, 940, 280

m3
TREATL 163, 130, 668
TREAIM PrmI2X 38, 705, 436
1-9 S R A (ML) 27,926.00 1, 386 38, 705, 436

m 3
AT () PrRmI2X 124, 425, 232
1-10 FbiEin L AbI& A (BIhAET) 3,333.00 1, 386 4,619,538

m 3
1-11 EhiEie A& A (RIBFHET) 98, 840. 00 1,188 117,421,920

m 3
1-12 BMgM AR 1.00 2,383,774 2,383,774

=
(REN] AR 405, 445, 746
BET 82,784,274
EE Q) 82, 784, 274
Ny IR BB BB FNCTO0 82,784, 274
1-13 /Ny o R (ICT) 64, 288. 00 1,274 81, 902, 912

m 3
1-14 N o R BRERMBE 1.00 881, 362 881, 362

=®
TREAT 303, 696, 512
TEMERT 2217, 322, 368
TIEMER 3) BWE N0 55 994, 848
1-15 LB ERK BRERT ~ AT 64, 288. 00 871 55, 994, 848

m3




EHBERERREK

KB EE i RAEKC-16mFLETE

3 g - BKTE B B = fili & £ =

TEMER (3) & L APNCIO 123,111,520
1-16 L iEMER HEUGFT~ TR A SR (BRE2RK) 64, 288. 00 1,915 123,111,520

m3
HHER 48, 216, 000
1-17 #REY 64, 288. 00 750 48, 216, 000

m 3
TREAT 76, 374, 144
TREAIO) PrRmI2X 76, 374, 144
1-18 Mg R A (REFHET) 64, 288. 00 1,188 76, 374, 144

m 3
I 18, 964, 960
I 18, 964, 960
MR E 18, 964, 960
1-19 RHEMRE AV T7—LiNy ok 64, 288. 00 295 18, 964, 960

m 3
HEREE FEL) 174, 656, 076
HBREE 174, 656, 076
HBREE 174, 656, 076
|t - ZLMRE 33, 756, 902
Elfin 33, 756, 902
1-20 Efin# 95 TBER (FK) 1.00 16, 878, 451 16, 878, 451

]
1-21 Efin# 95 TBEMR (15 1.00 16, 878, 451 16, 878, 451

=




BHEERNRE KRB SRR AR 16m %R R TE

% i R - KT B B =B B @ ® % HE
EE 3,886, 624
B EEER 3,886, 624
1-22 5 fR4H SLIEHK QYT 7—LiNy IRy 1.00 3, 886, 624 3, 886, 624
=
EXBRMHILESRE 26, 707, 165
AR 6,313,785
1-23 5A LIRS PrRma2X (Rbigm) 180. 00 5,408 973, 440
m
1-24 BARLIERE PrRma2X (Rbigm) 180. 00 5,720 1,029, 600
m
1-25 FABA LIRS PrRma2X (Rbigm) 1.00 4,148, 640 4,148, 640
=
1-26 AR LLEFRFER 1.00 162, 105 162, 105
=
AL 20, 393, 380
1-27 FAIEREE 20mx 20m ('S J&EM) 1.00 1,236, 000 1, 236, 000
H
1-28 BAMLEREE 20mx20m (¥ 5 TigEMm) 1.00 1,060, 900 1, 060, 900
H
1-29 SEEMLREHE 20mx20m (75 Ti&iEMm) 1.00 7,187,400 7,187, 400
=®
1-30 ARG L BERE T4mx 14m (/X 5 R R EM) 2.00 1,122,700 2,245, 400
=
1-31 BFAM L EE T4mx 14m (/N 5 R R EM) 2.00 1,009, 400 2,018, 800
=
1-32 BAMNLERERSE 14mx 14m (/3 9 R EMm) 1.00 6, 644, 880 6, 644, 880
%
zeE 108, 795, 705
REXEK 108, 795, 705




BHEERNRE KRB SRR AR 16m %R R TE

% 5 K - KT By B = B O & # W E

1-33 RLERMm (1) [KiR#E] BRIEIR 4.96T#H 1.00 5,658, 443 5, 658, 443
=®

1-34 RLERM Q) [KBri#] BRREMEIE 196GT#k VHF 1.00 8,128, 505 8,128, 505
%

1-35 R2EEMRM (3)-1 [Kixi%] RREMEIE 30GT#Hk VHF 1.00 6,202,015 6,202,015
%

1-36 REBEHRM (3)-2 [KPr#E] HREMEIER 30GTH 1.00 6,194,534 6,194, 534
%

1-37 RLERM @) (BREE2X] EREHAR 4. 9GTH 1.00 6,815, 760 6, 815, 760
%

1-38 ZEEMRM (5) [fRFE2X) BERIZAR 196TH 1.00 9,752, 388 9,752, 388
%

1-39 REBS1RM (6) [RE2X] &EEAR 306TH 1.00 52, 809, 087 52, 809, 087
=

1-40 RLERMmK D) [REN] BEEIR 3. 06Tk 1.00 8,521, 805 8,521, 805
=

1-41 REBSIRM (8) [BRm1IX] BREEIE 4. 96Tk 1.00 4,713,168 4,713,168
=

KE - GEZREH 132,932

KERER 108, 387

1-42 KEREH 95 JigEm 1.00 40, 568 40, 568
=®

1-43 KEREH TiEf 1.00 22,367 22, 367
=

1-44 KEREH Ny R R R 1.00 9,090 9,090
=

1-45 KEREH 15&EMm 1.00 18,181 18, 181
=

1-46 KERIEH JL—teh 1.00 4,545 4,545
=

1-47 KEREH 15&EMm 1.00 13,636 13, 636
=

SERER 24,545




BHEERNRE KRB SRR AR 16m %R R TE

% [ R - kTR B4 #H = B ff & 2 W E

1-48 SERKRH MR E 1.00 24, 545 24, 545

=
BitiEEE 1,376, 748
R=FEHE (ICT) 76, 748
1-49 {R=F A48 (ICT) Ny YRR R (1CT) 1.00 76, 748 76, 748

=
AT LNEE (ICT) 1, 200, 000
1-50 < 2T L#EE (ICT) Ny DR Em (ICT) 1.00 1, 200, 000 1, 200, 000

=
BifEE 100, 000
1-51 BEREFAAE 1.00 100, 000 100, 000

=%
EEIEE 29, 402, 303
BIBET 10, 483, 675
[KBRE] ik (-16m) . KERBE 8, 567, 820
IRFTERIAE () 1,761,267
BB ER 263,077
2-1 BIBERE 1.00 181, 244 181, 244

=®
2-0 HHIEWE 2FELY) 1.00 81,833 81, 833

=
KFEAE 657, 387
2-3 BETA L 1.00 641,372 641,372

=®
2-4 TILF E—LAIFE 0.03 533, 850 16,015

km2




BHEERNRE KRB SRR AR 16m %R R TE

E2 3 R - BIKTE BAL B =8 B & % =

AR 840, 803

2-5 BIBT—4 88 1.00 573,518 573,518
=

2-6 IRFTEHRET T — 2 1ERK 1.00 267, 285 267, 285

3RFTRE L= (2) 1,824, 464

RIS EEfE 263,077

2-1 A= E(H 1.00 181, 244 181, 244
=

2-8 HMIEM QEEHY) 1.00 81,833 81,833
=

KiFER=E 686, 982

2-9 BETR 1.00 641, 372 641, 372
=®

2-10 T ILF E—LAIE 0.08 570,132 45,610

km2

B3 874, 405

2-11 BIFT—28E 1.00 607,120 607,120
=®

2-12 3R/ ETT— 2 1ERL 1.00 267, 285 267, 285

i

IRTHERAZE (1) 2,320,024

RIS HEfE 81, 833

2-13 #HHENR 2EESY) 1.00 81, 833 81, 833
=

KFRE 742,619

2-14 JBETR b+ 1.00 641, 372 641, 372
=




BHEERNRE KRB SRR AR 16m %R R TE

2 3 g - BKTE B B = B & % =
2-15 T ILF E— LR 0.05 2,024, 951 101, 247
km2

MR 1,495,572
2-16 BIRT—42EIE 1.00 1,495,572 1,495,572

=
SRTHERAIZ (2) 2,512, 065
RIS EEfE 81, 833
2-17 hEWR 21FEERY) 1.00 81, 833 81, 833

=
KFEA=ZE 904, 615
2-18 BETA b+ 1.00 641, 372 641,372

=
2-19 TILF E—LALE 0.13 2,024,951 263, 243

km2

T 1,525,617
2-20 BIBT—28E 1.00 1,525,617 1,525,617

=
EERE 150, 000
HskBRE 150, 000
2-21 (BB RS 1.00 150, 000 150, 000

=R
[REN) AR, FRB=E 1,915, 855
IRTERIAE 1,915, 855
R 263, 061
2-22 RIE%EH NEDH 1.00 181, 244 181, 244

=®




EHBERERREK

KB EE i RAEKC-16mFLETE

E2 3 R - BIKTE B = fill & %

2-23 BEAHEHR 21EEZY) 1.00 81, 817 81,817

=
KiEH= 802, 475
2-24 BETA b+ 1.00 639, 796 639, 796

=®
2-25 TILF E—LGAE 0.05 3,253,583 162, 679

km2

AR 850, 319
2-26 I T—28E 1.00 583, 034 583,034

=
2-27 3RFTERETT— 2 1ERL 1.00 267, 285 267, 285
mEBER 18, 918, 628
mEER 18, 918, 628
[KBR#E)] [KE)I] REER 139, 986
RAEER 139, 986
2-28 FEHER 1.00 139, 986 139, 986

=®
[KBR#E) REEER 8,911,899
EERE 568, 540
2-29 ik 1.00 521,766 521,766

=
2-30 SELER 1.00 46, 774 46, 714

=
X 2,629, 800
2-31 S HrElER 1.00 2,629, 800 2,629, 800




BHEERNRE KRB SRR AR 16m %R R TE

% R B - IR % B B 8 B & ] m =

THOmERSR 4,632,294

2-32 WO RERESR 1.00 4,632,294 4,632,294
=

TS ERE 1,081, 265

2-33 T—HERE 1.00 1,081, 265 1,081, 265
=

(HKEN) REER 9, 866, 743

EER 139, 986

2-34 REER 1.00 139, 986 139, 986
=

EHRE 284,270

2-35 il 1.00 260, 883 260, 883
=

2-36 EFLEMK 1.00 23,387 23, 387
=

T 1,342,740

2-37 HiaER 1.00 1,342,740 1,342, 740
=

TRORERER 1,221,835

2-38 tRbD REHR 1.00 1,221,835 1,227,835
=

T— 5 EE 871,912

2-39 T ERE 1.00 871,912 871,912
=

10




Kffi&- I/ \v7r—>

&5 :1-1

B U5 JRE EEMET) REEIBL—Y. CL—)

KB #E AR X HER(-16m)FRETE

1HZHY (2406m 3)

% b R - K& By £ B O{f £ Hm E w =
95 JREMmEEMBER) (X/8y FR) $D 15.0m3
H 1.00 3,515,379.00 3,515,379|7.50H / 10H
S (5 T&iEMmR R/ FK)) $D 1500PSEY
H 1.00 380, 126. 00 380, 126/2. 00H / 8H
MM E2ZNOY)
% 0.50 3, 895, 505. 00 19,477
& B {YE%HER : 2,406.00m 3 1,627.00 3,914,982
BE 1-2
B U5 IR #MET) DL— 1HHY (2406m 3)
% L R - KT By £ B f £ wm E w =
55 JiREM (EEhER) (R/3y FR) $D 15.0m3
=] 1.00 3,480, 767. 00 3,480,767|7.50H / 10H
5l (U5 TEEM (R FR)) $D 1500PSEY
=] 1.00 368, 250. 00 368, 250/2. 00H / 8H
AR 2{nY%
% 0.50 3,849,017.00 19, 245
& B 1E%8EA : 2,406.00m 3 1,607.00 3, 868, 262
H5:1-3
2 SRR (RAKEL) DL—r, BE 3) LRFBEL 1HHY (1765m 3)
% L R - KT By = B O(f i W E B %
95 JREM (ZEEBER) (R/3y FRX) #D 15. 0m3
H 1.00 3,207,599.00 3,207,599|5.50H / 10H
SR (U5 TEEM (R4 FR)) D 1500PSEY
H 1.00 368, 250. 00 368, 250(2. 00H / 8H
A 2 nY%
% 0.50 3,575, 849.00 17,879
= B {E%8EH : 1,765.00m 3 2,036.00 3,593,728




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

BE 14
25 U5 JigiEM EEhER) X 1Ly
% b R - K& By = B f £ W E w =
95 JREMmEEMBER) (X/8y FR) $8D 15. 0m3
H 1.00 1,524, 220.00 1,524, 220\ 4t F
S (5 T&iEMmR R/ FK)) $8D 1500PSE!
H 1.00 212, 360. 00 212, 360 |t
=1 it YEZHERN 1,00 1, 736, 580. 00 1, 736, 580
&S 1-5
A LEMERR (BIMET) (TR BEEM~ZNKES 1BHY (2406m 3)
% L R - KT BARL = B f £ wm E w =
T3E M (i) $11300m3%4 (FERA=)
=] 3.00 386, 100. 00 1,158, 300|10H
T £fD 2000PSEY
=] 1.00 654, 385. 00 654, 385|6. 00H / 10H
MAH 2 nY%
% 0.50 1,812, 685. 00 9,063
& E YEZEHBEN : 2,406.00m 3 757.00 1,821, 748
5 :1-6
A L EMERR (BEMET) (BRRE) ZMKER~RE2X 1% (2406m 3)
% b R - K& BARL = B O(f i W E B %
i £fD 2000PSEY
=] 2.00 708, 780. 00 1,417,560/8.00H / 10H
MM H 2{KnY%
% 0.50 1,417, 560. 00 7,087
& E 1EZ8EA : 2,406.00m 3 592. 00 1,424, 647




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 1-7
& . LEMER (BidET) 1BHY (2406m 3)
% b R - K& By = B O{f £ Hm E w =
tE i 3R $m1300m3%E (FRE=)
H 4.00 386, 100. 00 1,544, 400|10H
b::0or] £D 2000PSEY
H 2.00 634, 356. 00 1,268,712/6.00H / 10H
MM 2{RnY%
% 0.50 2,813,112.00 14, 065
& B YE%ERES : 2,406.00m 3 1,175.00 2,827,177
&5 1-8
A L EMERR (REFET) 1BHY (1765m 3)
% L R - KT By = B f £ wm E w =
T3E M (i) #m1300m3%E (FE=)
=] 4.00 386, 100. 00 1, 544, 400|10H
T £fD 2000PSEY
=] 2.00 559, 932.00 1,119,864]4.00H / 10H
MM 2 nY%
% 0.50 2,664, 264. 00 13, 321
& b E%8EH : 1,765.00m 3 1,517.00 2,677,585
H5:1-9
A ISR TR A (BEhET) 1BHY (2406m 3)
% L R - KT By = B O(f i W E B %
RO GETH/ 54 10H) F&F
=] 1.00 2,745, 688. 00 2,745, 688|7.00H / 10H
B REZEDLEVES) $HD 20t F
=] 1.00 574, 202. 00 574, 202 |8H
A 2 nY%
% 0.50 3,319, 890. 00 16, 599
& E YE%HEH : 2,406.00m 3 1, 386. 00 3, 336, 489




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 1-10
A B T RR A (BEhET) 1% (2406m 3)
% b R - K& By = B f £ W E w =
b GETH/7410H) Fa
H 1.00 2,745, 688. 00 2,745, 688|7.00H / 10H
Bt (e HH R LES) $8D 20tF
H 1.00 574, 202. 00 574,202 |8H
MM 2{RnY%
% 0.50 3,319, 890. 00 16, 599
& B YE%ERES : 2,406.00m 3 1, 386. 00 3, 336, 489
&5 1-11
A ISR TR A (RFFET) 1BHY (2913m 3)
% L R - KT BARL = B f £ wm E w =
RO GESH/ 4 10H) Fa
=] 1.00 2,871,284.00 2,871,284/8.00H / 10H
B MEZEDLELES) $D 20tF
=] 1.00 574, 202.00 574, 202 |8H
MAH 2 nY%
% 0.50 3, 445, 486. 00 17,2217
& b YE%8EH : 2,913.00m 3 1,188.00 3,462,713
H5 :1-12
27 BEmER 1KLY
% b R - K& BARL = B O(f i W E B %
BEmER F&F
=] 1.70 1,181, 220.00 2,008, 074
B REZEDLEVES) $HD 20t F
=] 1.70 221, 000. 00 375, 700 |1 FH
& it 1EZEEA - 1.00K 2,383,774.00 2,383,774




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-13
BFR Ny R BE(ICT) 1HHY (1148m 3)
% b R - K& BAGT H = B f £ Hm E w =
=hmEe [EER]
A 2.000 31, 290.00 62, 580
TEmEe [(EER]
A 4.000 25,620.00 102, 480
BEF (BR) [EER)
A 2.000 25,310.00 50, 620
Ny R (ICT) EEx
=] 2. 000 512,777.00 1,025, 554
ElL:c £fD 200PSE!
=] 2. 000 110, 841. 00 221,682(2. 00H / 8H
& B YE%EREN 0 1,148.00m 3 1,274.00 1,462,916
B 1-14
B Iy IR R EMEER 1KLY
% L R - KT BARL H = B f £ wm E w =
INY YR BR R $8D 2. 0m3
=] 2.00 329, 840. 00 659, 680|8H
5lfa £fD 200PSE!
=] 2.00 110, 841.00 221,682(2.00H / 8H
& b 1EZEEAN - 1.00K 881, 362. 00 881, 362
H5 :1-15
A TEMEM  REERT~ ISR 1B%Y (1148m 3)
% L R - KT BARL B = B O(f i W E B %
TiE M (R A #H300m3%E (A=)
=] 4.00 136, 893. 00 547,572 |8H
ElL #fiD 500PSEHY
=] 2.00 223, 787.00 447,574|4.00H / 8H
A 2 nY%
% 0.50 995, 146. 00 4,975
& E YE%HEH : 1,148.00m 3 871.00 1,000, 121




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-16
&% . LEMER FEEUGAT ~ TR ABR RE2X) 1B%HY (1148m 3)
% b R - K& By = B f £ Hm E w =
TE M (i) £11300m3%E (FERA=)
H 3.00 386, 100. 00 1,158,300[17H
b::0or] £D 2000PSEY
H 1.60 643, 802. 00 1,030, 0836.00H / 11H
MM 2{RnY%
% 0.50 2,188, 383.00 10, 941
& B YE%EREN 0 1,148.00m 3 1,915.00 2,199, 324
B 1-17
2% HEE 1BHY (1148m3)
% L R - KT BARL = B f £ wm E w =
g L—2ftEM 150t &
=] 1.00 636, 690. 00 636, 690(6. 00H / 8H
ElL:c £HD 600PSE!
=] 1.00 220, 143.00 220,143/2. 00H / 8H
MAH 2 nY%
% 0.50 856, 833. 00 4, 284
& b YE%8EH : 1,148.00m 3 750. 00 861,117
&H5 :1-18
& BRI ERA (FEET) 1B%Y (2913m 3)
% L R - KT BARL = B O(f i W E B %
RO GESH/ 54 10H) F&F
=] 1.00 2,871, 284.00 2,871,284|8.00H / 10H
B REZEDLEVES) $HD 20t F
=] 1.00 574, 202. 00 574, 202 |8H
A 2 nY%
% 0.50 3, 445, 486. 00 17,2217
& E YE%HEH : 2,913.00m 3 1,188.00 3,462,713




Kffi&- I/ \v7r—>

&5 :1-19

B BHMBRE DI T LNy oERD

KB #E AR X HER(-16m)FRETE

1BZ5Y (800m3)

% f] R - BIKTE BAf = LI i ® B E &5 &
OV 7—LsNy YR GE6 4H/F8H) [1.9m3 (R4 L b oy MEED
H 1.00 235, 524. 00 235,524/6.40H / 8H
AR 2ED%
% 0.50 235, 524. 00 1,171
=1 5 {YE%HEH : 800.00m 3 295. 00 236, 701
&5 :1-20
2 BB TS TREMR (FE) H=ED)
% b R - BIKTiR Bif = B @ ® # W E B &
BEE
= 1.00 3, 500, 000. 00 3, 500, 000
JEL s
= 1.00 3,156,171.00 3,156,171
L)
= 1.00 9, 569, 500. 00 9, 569, 500
AR E
=® 1.00 434, 890.00 434, 890
wE&%
=® 1.00 217, 890.00 217, 890
& b YEZ8EAH : 1.00[E 16, 878, 451. 00 16, 878, 451
5 . 1-21
&7 BB U5 TRER (ER) H=EED)
% b R - KR BAfL = i £ # HmE B %
BEE
= 1.00 3, 500, 000. 00 3, 500, 000
BELE
= 1.00 3,156, 171.00 3,156,171
Ei=E o)
= 1.00 9, 569, 500. 00 9, 569, 500
[EIRESEF
= 1.00 434, 890. 00 434, 890
wE%
= 1.00 217, 890. 00 217, 890
& E {EZ£8EH - 1.00[E 16, 878, 451. 00 16, 878, 451




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 :1-22
B HEMNER OV IT—LnNvEERY IEED
% g g - KT B H = H (@ ] = E %
SI7TL—yY L—y GEEARRERE) GhER#ED T8 25tHR
H 6.00 43, 700. 00 262, 200|8H
HIRERE
A 16.00 26, 990. 00 431, 840
M 20%
% 460. 00 694, 040. 00 3,192, 584
& i fE%8EH ;1,00 3, 886, 624. 00 3,886, 624
&5 :1-23
2 EEIEREREE  RE2X (R i) 120m L)
£ g & - IR B H 8 B O ] wE " &
AN LLERE
m 120.00 5, 408. 00 648, 960
& & Y8 : 120.00m 5, 408. 00 648, 960
%2 1-24
£% - 5ELEERE RE2K (M) 120m L)
£ g g - IRk B H 8 B ] = ik %
BB LR A BEED L—2RAH
m 120.00 5, 720.00 686, 400
& & Y8 : 120.00m 5, 720.00 686, 400
£ :.1-25
B EEBIEREN RE2X (Fi) IEED)
£ g B - BIKSTE Bifr H 2 B @ ] = ik %
BALRE R
=% 1.00 4,148, 640. 00 4,148, 640
& Gt 1E5REES : 1. 00K 4,148, 640. 00 4,148, 640




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-26
&% BAMLEGRTEE 1KLY
% b R - K& By = B f £ W E w =
BB IE SR BLEEAREERSHY) 100~500mFKH
[=] 5.00 32,421.00 162, 105
=1 it YEZHERN 1,00 162, 105. 00 162, 105
B 1-27
L% EAGIERERE 20mx20m (55 TiEEMm) 1&LY
% L R - KT BARL = B f £ wm E w =
FAMBIEREE [E2ES L—idd (#1720 x 20m$k)
H 1.00 1, 236, 000. 00 1, 236, 000
& it 1EZEEAN - 1.00E 1, 236, 000. 00 1, 236, 000
&S5 1-28
&% EABLEREE 20mx20m (55 TiEEM) 154y
% b R - BARTE BARL = B O(f % Hm E B &
EALERERE [E2E5 L—2iAd (#1720 x 20m$R)
H 1.00 1, 060, 900. 00 1, 060, 900
& Bt YEZ8EAN - 1.00E 1, 060, 900. 00 1, 060, 900
H5 :1-29
B EAGIEREHE  20mx20m (F'S TiEEM) 1LY
% b A - KA BAGL = B i ] B E w =
G ARG 20mx 20m (&' 5 7 & EMm)
= 1.00 4,477, 000. 00 4,477,000
FALEEEZR 20mx 20m (&' 5 7 & EMm)
= 1.00 2,710, 400. 00 2, 710, 400
& it 1EZEEA - 1.00K 7,187,400.00 7,187, 400




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 :1-30
&% EAMBIERFE 1dnx14m Oy o R38R R) 154y
% b R - K& BAGT H = B f £ # w =
B ERERE EED L—2sAd (#esH14 x 14mfR)
= 1.00 1,122, 700.00 1,122,700
=1 it YEZHERN 1. 00K 1,122, 700.00 1,122,700
&5 1-31
L% EAEMIEREE  14nx14m Ny 9 R 28EMm) 1&LY
% L R - KT BARL H = B f £ # w =
EALEERE 2L L—2idd (Bt 14 x 14m$R)
H 1.00 1,009, 400. 00 1,009, 400
& it 1EZEEAN - 1.00E 1,009, 400. 00 1, 009, 400
&BE 1-32
L% EAIERERE 14nx14m Ny 2 R928Mm) 1KLY
% L R - BAKTiE BARL B = B O(f % # B &
SEAERE L 14mx 14m (/X & 7R R E M)
=® 1.00 6, 256, 800. 00 6, 256, 800
EALEZER 14mx 14m (/X & 7R R E M)
=® 1.00 388, 080. 00 388, 080
& Bt 1EZ5EA - 1.00K 6, 644, 880. 00 6, 644, 880
#E :1-33
& REERK () [KEE] BRREEIR 4. 96T#H 1%y
% b A - KA BAGL #H = B O{f ] i w =
REERM GR10H) $HD50PSEY4. 9GTH#R
=] 58.00 97,074.00 5,630, 292 |10H
A 2 nY%
% 0.50 5,630, 292. 00 28, 151
& E 1EZEEA - 1.00K 5, 658, 443.00 5, 658, 443




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-34
&% REERK Q)  [KRE] BRBEEIE 196T# VHF 1Ly
% b R - K& BAGT H = B f £ # w =
TLERM (FE10H) £fD180PSE! 18GT
H 58. 00 138, 829. 00 8,052,082 |10H
[EI P VHF 32 8 ERSVHF &3
H 58. 00 620. 40 35, 983
MM 2{RnY%
% 0.50 8,088, 065. 00 40, 440
& B {YE%8ERH : 1.00=X 8,128, 505. 00 8, 128, 505
&S :1-35
&% REERMOG) -1 [KiR#E] KHEMEIFE 306T#H VHF 1KLY
% L R - KT BARL H = B f £ # w =
REEFM GR10H) [RAEHE ) 30GT
=] 12.00 513, 643.00 6,163, 716|10H
EIFRVHF 2= EFSVHF &4
=] 12.00 620. 40 7,444
MAH 2 nY%
% 0.50 6,171, 160. 00 30, 855
& b 1EZEEAN - 1.00K 6,202, 015. 00 6, 202,015
H5 :1-36
A REERMO)-2  [KRE] REMBEIF 306THk 1KLY
% b R - K& BARL #H = B O(f i i B %
REEEM (FR10H) (&AM ) 30GT
=] 12.00 513, 643. 00 6,163, 716/10H
A 2 nY%
% 0.50 6,163, 716.00 30,818
& E 1EZEEA - 1.00K 6,194, 534.00 6, 194, 534




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 1-37
& REERMG)  [RE2R] BREZAR 4. 96TH 1Ly
% b R - K& BAGT H = B O(f ® # # w =
TLEEM GE10H) $iHD50PSEY4. 9GT#k
H 69. 00 97,074.00 6, 698, 106/ 10H
RLERM FisH) $MD50PSE!4. 9GTHR
H 1.00 83, 745.00 83, 745|8H
MM 2{RnY%
% 0.50 6, 781, 851.00 33,909
& B {YE%8ERH : 1.00=X 6, 815, 760. 00 6, 815, 760
&5 1-38
2% RE2EARG)  [RE2X] BREZAR 196TH 1KLY
% L R - KT BARL B = B O(f ® # # w =
T EEM (FE10H) £MD180PSE!18GT
=] 69. 00 138, 829. 00 9,579, 201|10H
TLEEM (7i8H) £HD 180PSE!18GT
=] 1.00 124, 668. 00 124, 668|8H
MAH 2 nY%
% 0.50 9, 703, 869. 00 48,519
& b 1EZEEAN - 1.00K 9, 752, 388. 00 9, 752, 388
H5 :1-39
& REERM6) [RE2R) EHEERFF  306TH 1KLY
% b R - K& BARL #H = B O(f £ B i B %
REEEM GH12H) [&RAEEAE] 30GT
=] 113.00 465, 012. 00 52, 546, 356 |12H
A 2 nY%
% 0.50 52,546, 356. 00 262, 731
& E 1EZEEA - 1.00K 52,809, 087.00 52, 809, 087




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-40
&% REERM O [REN] BREEIR 3. 06TH 1Ly
% b R - K& BAGT H = B f £ # w =
RELERM F8H) $MD30PSE!3. 0GTHR
H 112.00 75,709. 00 8,479, 408 |8H
MM 2{ERnY%
% 0.50 8,479, 408. 00 42,397
=1 5 YEZHERN 1,00 8,521, 805.00 8, 521, 805
&5 1-41
&4 REERMEO) [REIR] BREEIR 4. 96T#Hk 1KLY
% L R - KT BARL H = B f £ # w =
RELERM Fi8H) $MD50PSE!4. 9GTH#R
=] 56. 00 83, 745.00 4,689, 720|8H
MAH 2 nY%
% 0.50 4,689, 720. 00 23,448
& B {YE%8ERH : 1.00=X 4,713,168.00 4,713,168
H5 . 1-42
2 KEREE J5ITBEMR 1KLY
% L R - BAKTiE BARL B = B O(f % # B &
KERER
=® 1.00 40, 568. 00 40, 568
& Bt 1EZ5EA - 1.00K 40, 568. 00 40, 568
HFE . 1-43
&% KEREF LTEM 1KLY
% b - K& BAGL #H = B O(f ] i w =
KEREH
= 1.00 22,367.00 22,367
& it 1EZEEA - 1.00K 22,367.00 22,367




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-44
&% KERIRK Ny IR EEMR EE)
£ R g - KT Bif =S it ) W E & #
KE R
= 1.00 9, 090. 00 9,090
a it 1EEBED - 1. 00X 9, 090. 00 9,090
&S 1-45
&% KERRH L& 1K%Y
£ R BRE - IR Bif 2 it i) wmE & #
IKE R
= 1.00 18,181.00 18,181
=) &t EEBESN - 1.00L 18,181.00 18, 181
&S 1-46
2% KERIRE JL—fEhR 1K%Y
£ R B - BKTE Bify g it (i) wmE w %
KE R
= 1.00 4,545.00 4,545
& & EZEEA - 1.00 4,545. 00 4, 545
&HE 147
&% KEREH L& 1K%Y
% L B - KT Bify =S i i) wm = i *&
KE REEH
= 1.00 13, 636. 00 13, 636
a8 &t EE8EH - 1.00K 13, 636. 00 13, 636




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 1-48
&% EERIEH THEMRE 1Ly
% b R - K& By = B f £ # w =
SEREH
= 1.00 24, 545.00 24,545
=1 it YEZHERN 1,00 24, 545.00 24,545
&S 1-49
L ARTFABCT) /Ny o R M (ICT) 1KLY
% L R - KT BARL = B f £ # w =
&R=F m#& (1CT) Ny o R BB (ICT)
=® 1.00 76, 748. 00 76, 748
& it {YE%8ERH : 1.00=X 76, 748. 00 76, 748
&S :1-50
& DRATLIEAE (ICT) /N =928 (ICT) 1KLY
% b R - BARTE BARL = B O(f % # B &
DRTLIBE 1Ny R A M (ICT)
=® 1.00 1, 200, 000. 00 1, 200, 000
& Bt 1EZEEAN - 1.00K 1, 200, 000. 00 1, 200, 000
&5 : 1-51
2% HEREDRRE 1KLY
% b A - KA BAGL = B i ] i w =
HEREIRRAE
= 1.00 100, 000. 00 100, 000
& it 1EZEEA - 1.00K 100, 000. 00 100, 000




REKR-TEI/ Svr— KERB ISR R M- 16mE R R TE

&5 :2-1
g2 [ B - KSR BAL = B i ® & W E 5 &
BIE FEHEN
A 1.00 54, 600. 00 54, 600
2 F A
A 1.50 47,100. 00 70, 650
B2 FREmAE
A 1.00 36, 900. 00 36, 900
AEHT
A 0.50 34, 600. 00 17, 300
MM 2&D%
% 1.00 179, 450. 00 1,794
= B 1EZ£BEA - 1. 00K 181, 244.00 181, 244
&5 .22
B EAER QEESZY) IEEPD,
% [ B - BIKSHE Bif H 8 B @ ® & W E B %
RIEMBE
A 2.00 25, 900. 00 51, 800
cSwo 2158
=] 1.00 29, 223.00 29,223/4.70H / 8H
MM 2&0%
% 1.00 81, 023.00 810
& g 1EZEBEA - 1. 00K 81, 833.00 81, 833




REKR-TEI/ Svr— KERB ISR R M- 16mE R R TE

&5 :2-3
B BETRXE
% f] R - BIKTE BAf #H = LI i ® B E I

TEE 5S4 FRY 2

H 1.00 3,532.00 3,532|2.00H / 8H
I FEHER

A 1.00 54, 600. 00 54, 600
= F

A 1.50 47,100.00 70, 650
= A

A 1.50 36, 900. 00 55, 350
HIEBF

A 1.00 34, 600. 00 34, 600
A= FRP D 70PS%!

=] 1.00 50, 650. 00 50, 650(8H
GNSSIfGIZEE DGNSS

=] 1.00 25, 740. 00 25,740
TILFE—LETEREH 36~455kHz

=] 1.00 339, 900. 00 339, 900
A &%

% 1.00 635, 022. 00 6, 350
& g {YE%8ERH : 1.00=X 641, 372.00 641,372




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

B .24
B RILTFE—LAIE 1B&Y (1.1km2)
% b R - K& By £ B i % £ Hm E w =
RWE Sq Ny 2L
H 1.00 3,532.00 3,532|2.00H / 8H
BIE M FRP D 70PSZY
H 1.00 50, 650. 00 50, 650(8H
A FEHEM
A 1.00 54, 600. 00 54, 600
= Fhm
A 1.00 47,100. 00 47,100
BIE AN
A 1.00 36, 900. 00 36, 900
REBMF
A 0.50 34, 600. 00 17,300
GNSSIfGIZEE DGNSS
=] 1.00 25, 740.00 25,740
TILFE—LEEBIFEE 36~455kHz
=] 1.00 339, 900. 00 339, 900
MM 2 nY%
% 2.00 575, 722.00 11,514
& B YE%fEN :1.10km 2 533, 850. 00 587, 236
H5 :2-5
& BIRT—488 1XHY
% L R - BAKTiE By = B O(f o % Hm E B &
BIEFEHEM
A 3.00 54, 600. 00 163, 800
Bl E HAm
A 4.00 47,100. 00 188, 400
Bl S AN
A 5.40 36, 900. 00 199, 260
A 2 nY%
% 4.00 551, 460. 00 22,058
= B 1EZEEH - 1.00K 573, 518.00 573,518




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S 2-6
B SRITEE T — 2 ERK 1X&Y (5%
% b R - K& By = i £ # w =
EXETACH))
A 1.00 64, 800. 00 64, 800
FEf (A)
A 1.50 57,000. 00 85, 500
FAf (B)
A 1.50 47, 200.00 70, 800
FAf (C)
A 1.00 38, 400. 00 38, 400
EHERARE FHEEDY
% 3.00 259, 500. 00 7,785
& it 1YE%8ERN 1. 005EER 267, 285.00 267, 285
&5 :2-1
A BIEXEE 1KLY
% L R - KT BARL = il £ # w =
BlE EEHED
A 1.00 54, 600. 00 54, 600
Bl HAm
A 1.50 47,100. 00 70, 650
Bl E AN
A 1.00 36, 900. 00 36, 900
BIEBF
A 0.50 34, 600. 00 17, 300
AR 2{nY%
% 1.00 179, 450. 00 1,794
& E YE%8EH : 1.00=C 181, 244.00 181, 244




Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 2-8
AT BB QFEELZY) D)
% b R - K& BAGT H = B f £ W E w =
BIEWHEE
A 2.00 25, 900. 00 51,800
k3w 2t3&
H 1.00 29, 223.00 29,223|4.70H / 8H
MM 2{RnY%
% 1.00 81,023.00 810
& B {YE%8ERH : 1.00=X 81, 833.00 81,833
&BE 29
A BETA A 1KLY
% L R - KT BARL H = B f £ wm E w =
REBEHE S4 kN AL
=] 1.00 3,532.00 3,532|2.00H / 8H
BlE EEHED
A 1.00 54, 600. 00 54, 600
Bl HEm
A 1.50 47,100. 00 70, 650
Bl E AN
A 1.50 36, 900. 00 55, 350
BIEBF
A 1.00 34, 600. 00 34, 600
BIE R FRP D 70PS%E!
=] 1.00 50, 650. 00 50, 650|8H
GNSSRIfGI & DGNSS
=] 1.00 25, 740.00 25, 740
TILF E—LEERR 36~455kHz
=] 1.00 339, 900. 00 339, 900
MM H 2{KnY%
% 1.00 635, 022. 00 6, 350
& E 1EZEEA - 1.00K 641, 372. 00 641,372
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Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&H5 :2-10
B RILTFE—LAIE 1B%HY (1.03km2)
% f] R - BIKTE BARL = B ® B E w =
XEE 54 FRY 2
H 1.00 3,532.00 3,532|2.00H / 8H
A= FRP D 70PS%E!
H 1.00 50, 650. 00 50, 650|8H
IS EEHER
A 1.00 54, 600. 00 54, 600
= Fhm
A 1.00 47,100.00 47,100
B EHEH
A 1.00 36, 900. 00 36, 900
HIEBF
A 0.50 34, 600. 00 17,300
GNSS;RI {1 2 & DGNSS
=] 1.00 25, 740.00 25,740
TILFE—LETEREH 36~455kHz
=] 1.00 339, 900. 00 339, 900
A 2RN%
% 2.00 575,722.00 11,514
& B FEREN :1.03km 2 570,132.00 587, 236
&HF5 :2-11
B BIBT—4 %8 IEED)
% b R - BARTE BAfL = B & # W E B &
IS EEHEm
A 3.10 54, 600. 00 169, 260
B = FEm
A 4.10 47,100.00 193,110
B HEH
A 6.00 36, 900. 00 221, 400
A 2R0Y%
% 4.00 583, 770. 00 23, 350
& E 1EZEEA - 1.00K 607, 120. 00 607,120
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Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

BE :2-12
B SRITEE T — 2 ERK 1X&Y (5%
% b R - K& By = i £ W E w =
EXETACH))
A 1.00 64, 800. 00 64, 800
FEf (A)
A 1.50 57,000. 00 85, 500
FAf (B)
A 1.50 47, 200.00 70, 800
FAf (C)
A 1.00 38, 400. 00 38, 400
EHERARE FHEEDY
% 3.00 259, 500. 00 7,785
& &t 1YE%8ERN 1. 005EER 267, 285.00 267, 285
&5 :2-13
B BEAERR 2FEESZY) IEED,
% L R - KT BARL = il £ W E w =
BIEHENE
A 2.00 25, 900. 00 51, 800
cSwo 2t%&
=] 1.00 29, 223.00 29,223|4.70H / 8H
HAH 2{nY%
% 1.00 81, 023.00 810
& B YE%8EH : 1.00=C 81, 833.00 81, 833
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REKR-TEI/ Svr— KERB ISR R M- 16mE R R TE

&S :2-14
B BETRXE
% f] R - BIKTE BAf #H = LI i ® B E I

TEE 5S4 FRY 2

H 1.00 3,532.00 3,532|2.00H / 8H
I FEHER

A 1.00 54, 600. 00 54, 600
= F

A 1.50 47,100.00 70, 650
= A

A 1.50 36, 900. 00 55, 350
HIEBF

A 1.00 34, 600. 00 34, 600
A= FRP D 70PS%!

=] 1.00 50, 650. 00 50, 650(8H
GNSSIfGIZEE DGNSS

=] 1.00 25, 740. 00 25,740
TILFE—LETEREH 36~455kHz

=] 1.00 339, 900. 00 339, 900
A &%

% 1.00 635, 022. 00 6, 350
& g {YE%8ERH : 1.00=X 641, 372.00 641,372
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Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&S :2-15
B RILTFE—LAIE 1B%HY (0.29km2)
% f] R - BIKTE BARL = B ® B E w =
XEE 54 FRY 2
H 1.00 3,532.00 3,532|2.00H / 8H
A= FRP D 70PS%E!
H 1.00 50, 650. 00 50, 650|8H
IS EEHER
A 1.00 54, 600. 00 54, 600
= Fhm
A 1.00 47,100.00 47,100
B EHEH
A 1.00 36, 900. 00 36, 900
HIEBF
A 0.50 34, 600. 00 17,300
GNSS;RI {1 2 & DGNSS
=] 1.00 25, 740.00 25,740
TILFE—LETEREH 36~455kHz
=] 1.00 339, 900. 00 339, 900
A 2RN%
% 2.00 575,722.00 11,514
& B FEREN :0.29km 2 2,024, 951.00 587, 236
H5 :2-16
B BIBT— 28R 1KLY
% b R - BARTE BAfL = B & # W E B &
IS EEHEm
A 5.10 54, 600. 00 2178, 460
B = FEm
A 14.20 47,100.00 668, 820
B HEH
A 13.30 36, 900. 00 490, 770
A 2R0Y%
% 4.00 1,438, 050. 00 57,522
& E 1EZEEA - 1.00K 1,495, 572.00 1,495, 572
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Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

B . 2-17
AT BB QFEELZY) D)
% b R - K& BAGT H = B f £ W E w =
BIEWHEE
A 2.00 25, 900. 00 51,800
k3w 2t3&
H 1.00 29, 223.00 29,223|4.70H / 8H
MM 2{RnY%
% 1.00 81,023.00 810
& B {YE%8ERH : 1.00=X 81, 833.00 81,833
&S 2-18
A BETA A 1KLY
% L R - KT BARL H = B f £ wm E w =
REBEHE S4 kN AL
=] 1.00 3,532.00 3,532|2.00H / 8H
BlE EEHED
A 1.00 54, 600. 00 54, 600
Bl HEm
A 1.50 47,100. 00 70, 650
Bl E AN
A 1.50 36, 900. 00 55, 350
BIEBF
A 1.00 34, 600. 00 34, 600
BIE R FRP D 70PS%E!
=] 1.00 50, 650. 00 50, 650|8H
GNSSRIfGI & DGNSS
=] 1.00 25, 740.00 25, 740
TILF E—LEERR 36~455kHz
=] 1.00 339, 900. 00 339, 900
MM H 2{KnY%
% 1.00 635, 022. 00 6, 350
& E 1EZEEA - 1.00K 641, 372. 00 641,372
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Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

5 :2-19
B RILTFE—LAIE 1B%HY (0.29km2)
% f] R - BIKTE BARL = B ® B E w =
XEE 54 FRY 2
H 1.00 3,532.00 3,532|2.00H / 8H
A= FRP D 70PS%E!
H 1.00 50, 650. 00 50, 650|8H
IS EEHER
A 1.00 54, 600. 00 54, 600
= Fhm
A 1.00 47,100.00 47,100
B EHEH
A 1.00 36, 900. 00 36, 900
HIEBF
A 0.50 34, 600. 00 17,300
GNSS;RI {1 2 & DGNSS
=] 1.00 25, 740.00 25,740
TILFE—LETEREH 36~455kHz
=] 1.00 339, 900. 00 339, 900
A 2RN%
% 2.00 575,722.00 11,514
& B FEREN :0.29km 2 2,024, 951.00 587, 236
H5 :2-20
B BIBT— 28R 1KLY
% b R - BARTE BAfL = B & # W E B &
IS EEHEm
A 5.10 54, 600. 00 2178, 460
B = FEm
A 14.50 47,100.00 682, 950
B HEH
A 13.70 36, 900. 00 505, 530
A 2R0Y%
% 4.00 1, 466, 940. 00 58, 677
& E 1EZEEA - 1.00K 1,525,617.00 1,525, 617
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Kffi&- I/ \v7r—>

KB #E AR X HER(-16m)FRETE

&5 2-21
£ L g - KT Bif 2 B ® # IS " &
EBRRRE
= 1.00 150, 000. 00 150, 000
a it 1EEBED - 1. 00X 150, 000. 00 150, 000
&5 2-22
£ R BRE - IR Bif 2 B * & wE & #
B8 FERER
A 1.00 54, 600. 00 54, 600
B2 FE
A 1.50 47,100. 00 70, 650
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